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def first_:tate{}:
return [6,1,1,1,1,1]
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def next state(current state):
for 1 in range(5,0,-1):
1f current state[i]<5:
current state[i]=current state[i]+l
return current state
elif current state[i]==5:
current statel[i]=1
return None
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def validate state(current state):
val=True
for 1 in range(l,7):
val=val and (1 in current state)
return wval
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def wvalidate (state):

turtle.delay(0)

turtle.reset()

for 1 in range(6):
turtle.fd(state[i] *10)
turtle.lt (60)

1f turtle.ycor()**2 + turtle.xcor()**2<0.01:
return True

else:
return False
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state=firs§_state{]
count=0

. while state!'=None:
if validatg_state{state]:

if wvalidate(state) :
print(state)
count=count+1
state=next state(state)

print (count)
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(6, 1, 4, 5, 2, 3]
(6, 1, 5, 3, 4, 2]
(6, 2, 4, 3, 5, 1]
[6, 3, 2, 5, 4, 1]
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